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XEHNK ¥15,858,000
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*a Z1E o R
1 | —ERERET 12,546,000 Py
2 |MFE B AREEE 12,690,000
3 [WHBRILF LIV KRS 12,530,000 Ly
4 |EAFEHE#TarYILEY MR 14,570,000
5 | Y ILAV KR TE 11,720,000 L33
6 (MREEMIa YLy 12,620,000 EALE
7 |E—RERER KRXE 15,000,000
8 YTy 11,200,000 H ik
O |wEFmEmaT LA KIREBH| 13,020,000
10|MEE BT aT v ILaTy 11,760,000 ik
11|#T/ND 11,793,000 Hik
12|WZFTO=7YLY KRXE| 11,870,000 S5
13|WA UL ETAH LA KIRE %R 11,250,000 K&
14|#RHFRET 11,153,000 %R
15| BARKI RGN KBRX#t 11,140,000 ik
16|MRRBEEMFRN EEEHF | 12,300,000 %15
17|WEBEIL =TI KIRE LA 12,540,000 K&
18| E AT BT 12,930,000
19[S —RavHLash KR 11,110,000 %48
20| RN ERETE 11,185,000 Hik
21|HWEE BFEXH 9,590,000 %tk
22|=a—>xvy 10,890,000 H ik
23| MIEE R BB AREEFR| 13,440,000
24|va—arHLash KRZE| 12,920,000
25| IEFIERETHY ARMRZIE 10,670,000 R
26|@iHFIaL YLy BEERIE 11,830,000 SR
27|W=Kaz4 Lk KERX4| 12,748,000
28|HRIBFNERET 10,490,000 ik
29/T—R KRt 12,690,000
SO|MNERIRERET R AT BTt 13,190,000
31|WBERIV—H 12,020,000 H ik
32|MIBRFE T ILAU b 10,740,000 ik
33 MIENTHTR RMFZHt 11,990,000 ik
34|wEREHaT LA BEXE 12,439,000 %18
35|H/TEMaPILESS KIREER 12,180,000 K&
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